5696 , SOLUTION, MP PATWARI

Ques 1. ANS (B) Solution:

20Hz ¥ 20000 Hz & &< &1 SATRI a7l RN & "o ail’
FHEA e | 37 aN B §HRT BT Y- Tbdl &, STafdbs 20 Hz &
o1 errgftr arel eafy R B Sy A Fed | | 3
BRI S Y 781 THd1 § | 20000 Hz & SR B R Bl |
"TRIYST AT HEl oIl & | A &1 HH 34 el - bl g
Waves with frequency between 20Hz to 20000 Hz are
called 'audible waves'. Our ear can hear these waves, while
sound waves with a frequency below 20 Hz are called
'inaudible waves'. Our ear cannot hear it. Waves above
20000 Hz. These are called "ultrasonic waves'. human ear
can't hear it

Ques 2. ANS (D) Solution:

BT, U (el EEgfaas TRIS) T Safie uard
(Genetic Material) % S Aa-fUar & W ‘IUﬁ ARSIk
TGN HAT g | Y. T, T. 5= U UTey - SIfem1afi &
PS5 qUT A0S & U I & | 39 SifaRkad o
UTEa Ud el Bt IR § Sufkid guighd
(Chloroplast) H H} g Sd &1

D. N. a. (deoxy ribonucleic acid) is a genetic material that
transmits biological properties of parents to offspring. D.
N. a. Found in the nucleus and mitochondria of animal and
plant cells. Apart from this, they are also found in the
chloroplast present in the cells of plants and algae.

Ques 3. ANS (B) Solution:

= 3Rk ufeRIe a1 / & a
- Fil’S - N
© A m?

o1 S.I unit = N/m?2

S.I. Unit= N/m §d &1

S.I. Unit = I e 1 S.I. Unit = dic
Ques 4. ANS (A) Solution:

gRdda® Urey SIfIH13) H Ul S aTd dae &1 U bR
81 AW (Plastids) Had UGy HIRTHTH H € OTT o1 d § |
3P dIF UPR §- 3auifdide (Leucoplast) Juifeias
(Chromoplast) 9UT 8RATa® (Chloroplast) | Ra@a® A
JUFRYd TuigRd (Chlorophyll) &t TeTIdl ¥ UTGY HehT
TR i fpaT HRd & | 3T HRUI, gRAAD Bl Urey
HIfABT BT ISR BT AT |

Chloride is a type of starch found in plant cells. Plastids are
found only in plant cells. There are three types -
Leucoplast, Chromoplast and Chloroplast. Plants carry out
photosynthesis with the help of chlorophyll present in the
chloroplast. For this reason, the chloroplast is called the
kitchen of the plant cell.

Ques 5. ANS (B) Solution:

fqeTfEM-K Aifie! &1 Ue a9 &, ford faerftq-k1 &8
Uiyl arelt feordl ¥ UTa) duT faerfiq-K2 (@i, - 3708,
el q UT) TRd AT § | faetfiF-k e e & &1 3ad
BT YFDHT T H TETIP 51dl ¢ dlich 3T 3o T8+ 9§
ST S Heb | 39 3fiferd, T faerfe SRy Suruey

(Bone

Metabolism) TJUT T | HieRaH Bt AR & g of
Tyt Yftret AT |

Vitamin-K is a group of compounds, in which vitamin-K1
(obtained from green leafy vegetables) and vitamin-K2
(obtained from meat, - eggs, cheese) are the main
compounds. Vitamin K helps in clotting of blood after
injury to prevent excessive bleeding. Apart from this, this
vitamin also plays an important role in bone metabolism
and control of the amount of calcium in the blood.

Ques 6. ANS (A) Solution:

S T B AR T B 3BTS ©, b b Hex P
&Y I [ &1 I3 $8d & - U T ShTs
149597870700 HIeR & SRT6R STafdh T THTI a
946000000000000 HieR & SRTER BT & 3R TRIH g3t
HITA ) T 91 SHTS ¢, RN 1 URAD 3.26 USRI aY &

TR EaTe

Micron is the smallest unit of distance measurement,
because one millionth of a meter is called a micron - an
astronomical unit equal to 149597870700 meters while a
light year is equal to 946000000000000 meters and parsec
is the largest unit of distance measurement, because 1
parsec is equal to 3.26 light years
Ques 7. ANS (C) Solution:
T&HTRITT dd (Optical fiber) Hid AT W 4 fAfHd - T dg
BT &, ! TS &1 [G1 B YehTRI &7 HeRUI 1 9hall |
e YehTR1 R0} 6o HiesH Y favel A1edd & g§ (Idg) W
3Tufard 81 € 8 SR SHTUTH v, Hifes BHioT Y 34 7Y
TS UHTRI T g el gidl, dfcdh gl vesr=r uRafdd
g ST T B die oITdT § | 3 " & UahT=T &1 guf
3T WG Hed § | 3fd: UHTR o UhT HT gt
AN TRTACH & RIGTd & SR IR HTH HRAT @ |
Optical fiber is a fiber made of glass or plastic that allows
light to propagate along its length. When light rays are
incident on the surface of a rarer medium from a denser
medium and the angle of incidence is greater than the
critical angle, then there is no refraction of light, but the
entire light is converted back to the same medium. This
phenomenon is called total internal reflection of light.
Therefore, optical fiber works on the basis of the principle
of total internal reflection of light.
Ques 8. ANS (A) Solution:
=i, &%1 e a1 A i rufiie W e drd € w31
Ifrd 3guTd & fAreeR 3 11 9uR 53 S 9ahd § | 14 -
2 <f1FT onfies I ) sRTeR Surd | fram S g, o 4
BRI RG]
These three primary colors are called blue, green and red
because other colors can be prepared by mixing them in
proper proportion. When these three primary colors are
mixed in equal proportion, white color is obtained.
Ques 9. ANS (C) Solution:
g I Ui Fe &1 T & R 1w 1 Sereru g
T SId Sigeh & TR 1 GaTd g, ol Tiiehl <l 97T H ST &
?ﬁ?ﬁ%wﬁﬁﬂéﬂ%a@%ﬁ%mﬁﬁaﬁa@?ﬁ
[




The deflection of a gun is an example of Newton's third law
of motion, because when the trigger of the gun is pressed,
the bullet deflects from the front with the same
momentum as the gun deflects in the backward direction.
Ques 10. ANS (A) Solution:

YT (Chromatin Threads) $-5d H Udh Sflcl He
TRAT & T9 H U o1 & o gfaerame = 3 Fffa g g1
PIRIHT TUTSH (Cell Division) & THI T YT Uh-gaR o
3IEHT BT 91T & 3R GBI bR B SR AR BT B
HIAfeT YT & 39 uRafdd ®u aﬁw (Chromosome)
STl & | UG (HoTd: ShiAfe YY) <fakids 31T (DNA)
JuT &R WA (e 3 fAfifa a8 1 pNa & forarers
HRT P S (Gene) FET AT B
Chromatin threads are found in the nucleus as a mesh-like
structure made up of nucleoproteins. During cell division,
these threads separate from each other and become
shorter and thicker by shrinking. This altered form of the
chromatin thread is called a chromosome. Chromosomes
(basically chromatin threads) are made up of nucleic acids
(DNA) and basic proteins (histones). The functional part of
DNA is called a gene.
Ques 11. ANS (B) Solution:
T U R H 220 WeeH H T B H diiTedd arelt ai
gﬁ%,mﬁ?wﬁ 31fye aenIg e aTeh T e STt AT

|
Among the waves received from the Sun, the wave with the
shortest wavelength in the visible spectrum is violet, while
the wave with the longest wavelength is the red color
wave.
Ques 12. ANS (D) Solution:
T T IUBRT ¢ SIf 3TUP g B! i B

BILGIE
A cardiograph is a device that measures your heart rate.
Ques 13. ANS (A) Solution:
T & UHTR1 H Ul ST arelt siaRad fohRon 8§ Is gura
T STl § Foras g et o) Iag arg ofk aft uarf ot
FRID 5

The thermal effect is found in the infrared rays found in
sunlight, due to which it can heat the earth's surface air
and all matter.

Ques 14. ANS (B) Solution:

g1 A I H e § 1 37 TaRUT & forg ifaes drenmy
3MaRaes § 3rufd 4 ai) Fatd & e 9a Gl 71 I8
AR § 37! T 3U&THd Sgd &Y arg H 000C TR 320
e/ JHUS Bl & T a1 it ol Wt weardl g U Is
T YaurehT 0T el <= B

Sound waves are longitudinal in air. A physical medium is
necessary for their propagation, that is, these waves
cannot travel in a vacuum. These are longitudinal, their
speed is 320 m / s at 000C in relatively little air, these
waves are also called mechanical waves and these waves
do not show the property of polarization.

Ques 15. ANS (B) Solution:

TR T BT IS A1 SieRaH T3S 8| 3THT1 I
Ca0 g

The chemical name of quick pick is calcium oxide. Its
formula is CaO.

Ques 16. ANS (A) Solution:

DNA (Deoxyribose Nuclic Acid) is a genetic material in
most of the organism. It contains genetic information in
the form of nucleotides (A, T, G, C) sequences. DNA have
double helical strands structure. DNA is one of the three
major macromolecules that are essential for all known
form of life.

S Siiett IsEl faad 3 T SHTaifRies uard g ot
TR WOt o U ST B |

Ques 17. ANS (C) Solution: gl IR H H3 gD
YRYBTE FHTAT 8 | T8 TfaRe vl & R & U Had &
fore U flheex & &0 H 1 vl & | [RIAT A1et 3o
HIRAH137 P et B GA-dHIHR0T fhar ST 8, 3R

2 el % TSR & daeiRal 3 de4 § it 7eg Hrarg o
e ok ATy FTPRU T B

Ques 18. ANS (C) Solution:

Nuclear radiations are emitted by fusion of nuclear particle
in nuclear radiation. These reactions are very harmful for
skin and may cause the skin cancer.
AMBIg-faes & G A 1 fafes=ol Ia= il 8 1 3
fafpol @ 1 JHAH Ugal H) @l Haeh HER I
CRGIE]

Ques 19. ANS (D) Solution:

X-rays are produced when electerons strike metal target.
While in photoelectric effect electrons are emitted when
incident radiation of suitable frequency falls on a metal
target.

q S [l 4T D1 We F THId &, Id TH-2 I
B 8 | STafe Wil Saifaees gthae o smufad faswuor faeft
YT B WV THIT B, T9 Iaae [ BT SToH g g |
Ques 20. ANS (D) Solution:

In the absence of the earths atmosphere, sky will appear
black because there are no particles present to scatter

light.
qgaﬁ?a"rgmsa?ﬁ"r T, BT BT I DT Uehd
BT Fiifds MBI T YHIUH g1 o 1 By Bl g1 51|

Ques 21. ANS (A) Solution:

First Newtons Answer:

W:FA:(:1 My2
2

FI=MV2 /2 A x

F2=m(2V)2/2/A\x

F2=4F1
37q: TG BR GBI M QAT 2PH, aF 37 AP & foTe IR G Bt ATl 2rit

Ques 22. ANS (B) Solution:
Since no external force is acting, Linear momentum will
remain conserved.
SIS TR I PTIRNS 7 81 dlf X T Hed TRIE g |
ma = (M + m)v

B ma

(M +m)

S
M=T] NIkl SHT




M= dde! & g s P GdHH

V= 3= a7

Ques 23. ANS (B) Solution:

In the given options, electron is not a nucleon because it is
present in shells, while proton, neutron and positron are
present in nucleus.

feu T ol & Q gaaei= Ue feaii= el § wife 3
el H SURYA BIdT § Salich UIeid ggid a1 aiferg,
URATY] o A1 § SURIA B § |

Ques 24. ANS (B) Solution:
De Broglie predicted that small particles such as

electrons should show wave like properties along with
particle character. The wavelength ( A ) associated with
a particle of mass m and moving velocity v is given in the

relationship. A Represents wave nature & p represents

particle nature.

3 gietell o 9arn T Sl o BT Ui &
FOT FUT AT ST Y I o AT vl wr
BT | TR & (A), F0T & WeaAT & @y
AT AT 9T (v) & TaIfed § | el (A) SRar dr
ST TUT P FOT & ufd & WEtT a=ar ¥

h= Plancks constant / Colieh Telidieh
p=momentum / Td3T

m= mass [ GedHTA

v=velocity | e &&

Ques 25. ANS (C) Solution:

Uranium- 235 is commonly used in nuclear reactors for
producing electricity in nuclear fission. Uranium is a fissile
material.

Tfreptg Ruder & Aty fagus &) ufshar & R,

faqgd &1 daTe B & fIu RIIH-235 &1 T foban

ST R | G0 Ueh 3M1foadh qref | |

Ques 26. ANS (D) Solution: &R 'NG' TIeq T BT 781 B,
|

Ques 27. ANS (C) Solution: WW@THW@@@

T B Tl 8, U 1 et | TgT GRY 1 37
TR/TEH' U R A BT 3 e /A0 I g 1 1 T

3 3of, Yer B

Ques 28. ANS (B) Solution: &' U H I Xeq IGHYD!

2, Safer safed, SRETRd, 'SR S ¥ 1 W B |

Ques 29. ANS (A) Solution: g W%WWW%I _5t

BT - T, BT - HEY, YD - YHD, GSHT - YSD |

Ques 30. ANS (B) Solution: HIT Al 213, Sgd o |
Ques 31. ANS (C) Solution:

fRA M T A o gui @ o & Srarfd Tet a3 | =t

gufaTan # sieHl & Ut o § 9UT U -avf | 5-5 o

aﬁm@a%@qaﬁﬁmﬂmaﬁ%%ﬁaﬁwﬁ,ﬂwww%

FI-F,9 7,9,5d
Fi-9.8, 99,9

Ta-T 3,8,3 0

dd-d, 4, YA

gqf-u, w8 Y|

Ut aif & ggt oor! ot TRt s A fear srar ]

Ques 32. ANS (C) Solution:

ToTd fasmedt o e ad i p1 e A Y Teg 71 AW

Teal b TG TU 3Y YDR 8

STRI& Vo - Rk o

PR - HYBR

SRR -S{IT

P 3eqg

ST - STt

Ques 33. ANS (B) Solution:

Tl A SR IR e @i 39 areg o SHfAfyd WRear arerd

fRYSoT e § | 1T a1 AT ) fa=ivdT S arel Weg

ferIoror ed 8 | 78 HId: IR YR b1 Elell & off fHwad &
fardrm

4

v v

THEES  YEEEE

e ,ﬁ%a\_
WA

e 'x

$o fagrH uRHTUATE S RV &1 SReATdTe S o=V &1 61
%ﬂgwﬁlﬁ%ﬁWWWW%ﬁﬁ@m
|

Ques 34. ANS (B) Solution:

I U BT el IR fSforam ghm|

I/ /a8 & YR IR Yeg IR TSR & 8Id ©:

1. THH - TP Y ford T e - 1Y, arg,

2. TG d - TP ¥ ToRl TR g o1 fdierd T - 31T, BT, G
3. ST - 9 Vg ot IR &1 uar = 81 - fafean, drer, 33
4. faa=h- fac=ht yrorshi T fol T Req - 3IBER, 31Td, ST
Ques 35. ANS (B) Solution:

3T + A = 3TAM,

3T+ = Y

377 + Afd = 39AM,

ST H 3 IUT g, Tafeh '3RTY H IS UG el §
Fifp Iu &7 ST 31 BT § SR IS §U eg T 3T
f BT | TBT IR SMRTY H 377 T 31 < §3HT 3R JY T
IS 31ef TG g1 3fd: 3T 3R Y G eq Th-GER &
R © 3T 3TH Plg IUJ 78] eI |

Ques 36. ANS (B) Solution:

YTd & 3id T Sits ST aTdl Ul &1 d U a1 fg-d Ul
HEd & | Uec] P F1G Ot &R TT 31&R TG AT oIl § 2
TOUHEd 8| TSI UBPR B 8ld &

T, JTH 3R IR0 & 31 & o aTad U dfegd Uad
Fe A & | d U 3T YHR 831, 31, 3MTad, 3, &1, 7,
M, R, 341, R, SIST. 399, 341 3M1fe | F© e YT 3




TR §- @, I, 3. 39, ford, 3, 3, T, TR, 9, &%, g
gafe | fohaT Tiae U $d U &1 T 3G 81 3 U Uad
B o foparsil & TaM 81 Yd a1 JaamId & a1 faRivo
7 30T T g | AT 3R 31 3 UHR & YT |

Ques 37. ANS (A) Solution:

'Q"E_

3y - 3fd

31fe - 3=

URTY - FHT

Ques 38. ANS (A) Solution:

(ATHITRT) - (T RMea)

Tt Taiey e A g - sneafdrs

foraeT Taiy e 4§ - enfifep

T Teie IR & - IRATT

Ques 39. ANS (A) Solution:

e o198 IfY fowse i + I 8| 39 U &R
T B 1 3P FREER I 131 SR S & 91g 5/ AT, '
'3 3R ' WR AT A &1 B HHRL: T, 37, 3R 3R
EEEGERE

R+3Z=T%

YT + 3P = TAY

T + Sl = gl

IR + IUBR = WUBR

Ques 40. ANS (D) Solution:

FATHA Weg H HHYRY THN 8| 3D GAN 078 § Fd +
AP | FHYRY THN & FS A I&TEI0 39 UHR §-
1A, YU, HEd, HeTgey, Harad, dare, fidmw,
HFradta, sreRucdd, TRUGHY, Tadws, RIAE, Adrad

SUHTT THR & IT8RI- TUTY, STUTGHAD, TP,
U, i | f5T] THRT & IaTeRUI- gUeR, e, U=yH,
TaRd|
Ques 41. ANS (B) Solution:

3 P YR W IR P 1S VS8l &

1. faftr arerep a1 - A frde ugar g1

2. T a1 - T faegTera et |

3. 3{RITATeI dTe - g Bl Sira |

4, YYD 1] - TH DI ofl X6 B1?

5. fawrgaras arag - arg! A g g g |

6. Gegardd AT - XIS d8 d 3|

7. SITATID AT - HITGH 3HTUD! THd B |

8. Yhaarad arad- Afe URSH SRl 3avg B d gl |
Ques 42. ANS (C) Solution:

M. +=RfA B g MeRfa § 7P afe i s
g fowi® R, e g

AR -¥ B A B 81 3P 3 IETER0T 3 UHR -
¥+ 9g =g

¢: + THR = YIFHR

A + IR = R

7+ 5d = wa

Ques 43. ANS (D) Solution:

3 fawart a1 e Q WRETE b IRATd® Y BT JH gidl
? 3R 3 fovt T 3R Y ST § 9t i X ) s

GLIE
AL CBIEGEIHE
YUY H Hfd A d9 1 BTNl & Ydol b AT {1 8 I &707

R Y Ul B Sa ¥ Y 8 Tohdl © fhR ft g a T R ga
A 7 T8I IR B T DI BISH IRHTH B Ufel SIIRIT
U T 8 | 31Td STRIad Ug H =11 39 1T

Ques 44. ANS (B) Solution:

Hfed AHTeR A T Ufdd # & quf &Y--3 emafi g8 o
31d: BT S(IUTH DR GBI | STV S(efPR- Sfe il b1
3R Bl 8, T8T STI S(ADR Bl &; SI- a1 T b1
Iad fH0l | THS APR- S8l Ud Xeg U U HTUH TR
3T TYT IS ST 3T 312 FF 81 O TS SR gial
8 | SRIR-IR orel A, Sg7H Hraer|
IUAT STHR- T TN 3R JUAT T o1 B el g | qT
T Teg (T, I, TR, I, 39 3M1fe) I 0 4 H1 90
&1 SUHT STPR BIeT 8 | Y- 4 T W1 Yok & | TP
TPHR- T8I ITHY 3R ITAH | He fed (Pls-- He T8N
3RIY B I8T TP AHR BT §; O~ TRV HHA et
RIS |

Ques 45. ANS (D) Solution:

et g™ o gHuR,

G BT HGel SHLga S|

B 4 farorelt 1 Bd

EPEECIERSISIRUITE .

I Ufed H IUHT SR § | T8T A1 et ulRem ug= g
ATRIHT & HIfTHT 3T B g1 -iicl STad b drd DIHd
[EERISEEGIE .

Ques 46. ANS (B) Solution: GId Wg BT U TETaRT 5,
ST SUgeRt 31 - URd AT §, STafcb ' 1 7 e g A
YT AR, = 9 S 31T <ol adT QR & 61d ggra-'
Traferd didiiad & et 31 U - < FT Use g A
HTH ERT, e, o T e W 3R GIRT DI SN AT TUT 'R
A PIs ot fiet st ATt &' BT g |

Ques 47. ANS (B) Solution: @13 HHIU Pl WY 39 37 P
1 aTell Aepifad 3- ' 3ieht Ui ot @ | <t Aot <Rat
BT BT 312 BT 3- 3T A% A W T B gl g’ |
IR B G &Tel SRTER BT 3 Bl §- ST =l AT 370
3TeHl Bl g T8l Bicit | S AR I W U 18" BT 31
I 8- "deh T bTd BT |

Ques 48. ANS (B) Solution:

SO - G=ITdd, 3RERTAe, RIS Halrd, Hegrad|

DR - ol (IR, Fag, I |

IWET - YRUTR, FRERTACH, e Te, YA |
SATe! T 31 |

Ques 49. ANS (A) Solution:

Fq ea BT Y T BT S| U9 H B Wex [GTT TG,
orgenT T oref fonedt ot fased o Ffed 18t wsg Bq' 1
3 TR BT R | STANT & IR &b AR Vet B &
R IR 'FHq' g 8141 AeT forgenT 3 ey, Hief qun




YT AT R | ' e BT A 3 BT g | _ g 31 -

1. 3G -9

2. Bfe - gl o

3. BR] - YA, Sl alq

4. BYI® - BN TGH

Ques 50. ANS (C) Solution: STl & SATeT Tl gHT" Teh
drepifad g foraet ordd gRT gHed # SiR Jefiad ST
Ques 51. ANS (C) Solution: Opponent (¢RH, ﬁﬁﬁﬂ) -

Friend (IR, GT).

Ques 52. ANS (D) Solution: f&d T Idioms-bite the bullet
o1 314 § (BTPRS el &1 Wil ) |

Ques 53. ANS (B) Solution:

The incorrectly spelt word is sandwitch.

correctly spell Sandwich.

Ques 54. ANS (A) Solution: Minute DT G{Qf% - @ﬁET, q&H
microscopic I S{?f o 2II_E?[ % |

Ques 55. ANS (A) Solution:

Ques 56. ANS (C) Solution:

Ques 57. ANS (D) Solution:

Ques 58. ANS (A) Solution: The correct spelling is
'separate’ meaning not connected, apart.

Ques 59. ANS (A) Solution: Zestis a feeling of enjoyment,
excitement and enthusiasm. Passion is the correct ans.
Ques 60. ANS (B) Solution:

Embellish means make more attractive by decorative
details.

Disfigure will be correct answer

Ques 61. ANS (D) Solution:

Veteran is a person who has very long experience of a
particular job or activity.

Apprentice - trainee

Ques 62. ANS (B) Solution: Most appropriate word should
be insensitive because authority concerns should be
insensitivity.

Ques 63. ANS (D) Solution: This is a present indefinite
sentence, due to daily routine 'goes’ will be the correct ans.
Ques 64. ANS (C) Solution:

Ques 65. ANS (A) Solution: Explanation:- Egoist means a
person who is preoccupied with his own interests.
Eccentric means irregular, erractic or peculiar.

Ques 66. ANS (D) Solution: The word that can be replaced
is Almanac (ti?l'i"T )

Ques 67. ANS (C) Solution: They said they had lived there
for a long time.

Ques 68. ANS (B) Solution: Precise mean clear and
accurate.

Ques 69. ANS (A) Solution: Criterrion ' T S Ads, g
,QTQ_Q;_S'@?H%, Measurement' Wﬁﬁlﬁa@m%

Ques 70. ANS (A) Solution: STdl fdhail Udh I HT GaRI I
F SR WY HRA g8 | TR HT N HIAT SIT 8. a9 89
on WWW% | S - We are going to see my parents
on the weekend. ST&fdb in BT YA FRRAT BT WWW,
TIRITS BT Y B 3R TR BT 1Y B & g Hi g7 in
HTURM PRAG |

Ques 71. ANS (C) Solution: with the view to' P11 'with
a view to' aTIT, NP 'with a view to' U idioms %, T
3 I 8- % IE T I |

Ques 72. ANS (D) Solution:
or a editor' @1 GITg 'or an editor’ EﬁTIT, RNP editor BT

URH vowel sound © I €3f el % |

An + SCN (starts with vowel sound)

Ques 73. ANS (C) Solution:

Something that is obsolete is no longer needed because a
better thing now exists.

QR [QRT]

yaferd

Ques 74. ANS (B) Solution: ¥ad R H the BT UaNT fobar
ST - "The' article fA3d arn‘%, EIQEITRIT:[@ 3R Yo
DHdl % - "The" article g4t singular a plural & ﬁ'I'Q gHE % |
Ques 75. ANS (D) Solution:

Incorrect word % - pandemonioun
correct 8T - pandemonium (A state of extreme confusion

and disorder) 3rufd Qil?‘_ d, plaed

Ques 76. ANS (A) Solution:
(16)0.16 X (2)0.36 — (24)0_16 % (2)().36
— (2)0.64 % (2)0.36 — (2)(0.64+0.36)

— (2)1.00 =2
Ques 77. ANS (B) Solution:

100 x 20
yfaera gfe = 8—; = 25%

100 x 20

25%
30 /0

Percentage increase =

Ques 78. ANS (D) Solution:
A AT = 10: 12 = e = 10,%. fiond = 12,5 @5 =12 - 10=%.2
-, T &S Tl &2 = & x 100/GeEA x T

2 % 100
T 10x1

= 20%

Principal : Amount = 10 : 12 = Principal = 10, Rs. Amount = 12, Rs. Interest = 12 — 10 =Rs.2

.~.annual rate of interest = interest x 100/principal x times

2 » 100
=Tk

Ques 79. ANS (C) Solution:




Tepqig MHEH - HeTeH = Tehdia o

107\ 107\*
30000 (ﬁ) — 30000 = 4347 = 30000 (ﬁ) = 34347

S (107\' 34347 11449 (100
~\100/ ~ 30000 ~ 10000 ~ \ 100

c.t= 2T st st = 2 e

Compound Amount - Principal = Compound Interest

107 107\
30000 (ﬁ) — 30000 = 4347 = 30000 (ﬁ) = 34347

C(107\' 34347 11449 (100
~~\100/ ~ 30000 ~ 10000 \ 100

.t=2years i.e. duration = 2 years

Ques 80. ANS (B) Solution:
LT 3 1 &fch & It = 5 + 3 = Sfdsdt/mgver

EIRT o 4rer 26 fasdt aen d gor = 2—5 — % - Siu%

Speed of the person along the stream = 5 + 3 = 8km/h

26 13 1
Time to swim 26 km with the current = — = — = 3— hours

4
Ques 81. ANS (C) Solution:

FAEBIOT 5T H, TTEeImTReE Wi &, @ + HTR? = Puf
.25+ ER? =169 = HUR? =144=122 = LR =12T%

5x 12

.+, GHGIUT fAE &1 S = @ X HIER/2 = 3

= 30 of vep

In right triangle, by Pythagoras theorem, [::en:.encli(ular2 +base? = I'q.f[:mtoanuse2
.25 +base® =169 = base? =144 =122 = base =12 units

.". Area of right triangle = perpendicular x base/2 =
Ques 82. ANS (A) Solution:
HAY A GG BT HIIAH = B2f BT 810 x B Bl FHS

B = 30 square units

204
.. 204 = BT 810 % 6 = F2f T B = e = 3472

WVolume of air in the room = Area of the floor x Height of the room

204 9
.. 204 = floor areal x 6 = floor area = e =34 m.

Ques 83. ANS (D) Solution:

it fiIw &1 HIAaT = FAFRIT LR &1 &Fhel x FHars

Ha: 19204/3 = ?xg}ﬁg x g

1920,/3 = ? x 16 x 16x Far

Farg =30t

Since volume of prism = area of rhombus base x height
3
S0 1920/3 = \/T x side? x height

_ 3
1920,/3 = \/T % 16 x 16 height

Height = 30 cm.
Ques 84. ANS (D) Solution:
fa= & AB ftan &, f5ich! s & Gt OC = 4 At FR@I0T s OAC # UTseriRa wha &
AC? 1 0CY=0A2 = AC? + 16 =25 = AC2 =0=3%
SAC =38 = Sfiat AB = 2 x 3 =64l
In the ﬂf_.lure AB is a chord whose distance from the centerOC=4cm inar Qﬁt anglea t'lEI'gIE OAC D}' Pwll‘agoras theorem
AC? 4 0C? = 0A = AC? 416 ~ 25 = AC? —~ 0 - 3°

SAC=3cm=chord AB =2 x 3=6cm

Ques 85. ANS (C) Solution:

A ABCTUT APQRH £A = £Q, 2B = LR 3T& £C = P [
for o1 T DI SRR BId & | I HH T TR P
EIECRURY G

AABC and APQRin ZA = £Q, 2B = £R eight £C = £P
Since the order in which angles are equal. In the same
order, symmetry is also named.

A

~AABC~QRP

Ques 86. ANS (D) Solution:

Given, 7-digit number 134x58y is divisible by (72=8x9)
factors of 72= 2, 3, 6, 8,9, 18, 24, 36 and 72. = This 7-digit
number divisible by 8 because 8 is a factor of 72. So, last
three digits of a number is divisible by 8, for y= 4
#file_1664447370249

This 7-digit number also divisible by 9. So, the sum of all
the digits of given number is divisible by 9. Hence,




1434+44+x+54+8+44=25+xso,x =2

=25+2=27, divisible by 9. Hence, x=2 and y=4

s 2X+y=2X2+4=4+4=8

fear a8, 7- 31T BT 134x58y(72=8x9)J fquTa &
72 % UGS = 2,3,6,8,9, 18, 24,36 AR 721 = TG 7
3iep 1 T 8 W fauTa § NS 8 72 BT TINS5
w@%ﬁ%ﬁw% sife 7 siw fra faursa g2 8, y=
4.

8)584(73
56

24
24
=
g 7 3! o1 T Wt o F fauTsa B 1 3, <1 8 T &
Gt 37epY 1 41T 9 F faHTe B1 3afT,

1+3+4+x+5+8+4=25+ x @, x=2

=25+2=27, 9 J faUTsT g1 3R, x=2 3R y=4
& 2X+Yy=2%2+4=4+4=8

Ques 87. ANS (D) Solution:
- 4" From opnon (1),
(85)‘ =(84)* + (13)
= 7225=7056 + 169
7225=7225
Hence, 13, 84, 85 is a Pythagorean
triplet.
From option (2),(25)" = (24)* + (7)?
= 625=576+ 49
625= 625
Hence, 7, 24, 25 is a Pythagorean
triplet.
From option (3),(17)* = (15)* + (8)*
= 289=225+ 64
289 = 289

Hence, 8, 15, 17 is a Pythagorean
triplet.

From option (4), (63)* = (60)* + (11)?
= 3969 =3600 + 121
3969 # 3721

Hence, 11, 60, 63 is not a Pythagorean
triplet.

Ques 88. ANS (B) Solution:
A for dead xRy ? & x> y.
-1 =45
= (x+ yllx-y) =45 ..... (i)
3E,45=5x%x9
15 x'3
=45 x 1
. g H FEA = 3
Ques 89. ANS (A) Solution:
THTIER,

T 9E 9E = 16

T B e = 8
Tad 9= = x

16 +8+x=12x%x3
= 24 + x =36

=2 x=36-24=12
Ques 90. ANS (A) Solution:

ofee + T = 2 x 21=42 7

-qu-arﬁg'g=gx42=35 EL]

T H=42-35=7"
- 598 9% i I
=(35+5):(7+5)=40:12=10:3
Ques 91. ANS (B) Solution:
(A+B+C) g 1 fire & fifan ™

.
H = 30

(A +B) g 1 fire @ e T+

y 5
= 50
- CEm 1 fame ® fean mn ™

1 1 5-3__2 1

=30 50 " 150 150 75
. C @@ 3a %@ ®t 75 fire d g wom
Ques 92. ANS (C) Solution:

Fq@ o 1 2 180° B R
. 2x+ 3x =180

180
=2 8x=180=x= —5— = 36

w 2x=2 % 36 = 72°

@ 3x=3x36=108°
Ques 93. ANS (B) Solution:
T S & B! Y BI = & D1 ol BAIYS BT &1 Y=g
[EREREIRNECS KR
(3,5,6)=3+5=6
(2,5,6)=>24+5=6
Had ol FYS T8 ST Johd & |
We know that the condition of a triangle is that two sides
of a triangle together are greater than the third.
(3,5,6)=3+5=6
(2,5,6)=>24+5=6
Only two triangles can be made.
Ques 94. ANS (A) Solution:




xt+x*=194

2
1
(x2+—2) =194 +2 =196

1
+—=(16)"% =4
X

1
X*—+2=4+2=6
X

Ques 95. ANS (A) Solution:

1 0846, 23 — 0,098
13 =T

5 _

17

We know that, 0.84 < 0.88 <0.92

11 15 13

ﬁ < 1—7 < ﬁ
Ques 96. ANS (B) Solution:

Number of runs made by running = 110 - (3 x 4 + 8 x 6)
=110- (60)
= 50.
- 50 5
. Required percentage = | — x 100 |% = 45—%
110 11
Ques 97. ANS (A) Solution:

7(3x +12) =5(5x +12)
21x + 84 = 25x + 60

4x =24
x=6
. The sum of given numbers = 3x + 5x

=8 x6=48

Ques 98. ANS (C) Solution:
... Let the edge of the cube be 2 cm.

Volume = 2197
a =2197
a=3%2197
a=13 _

Lateral surface area = 44’
= 4(13)* =676 cm®

Ques 99. ANS (B) Solution:
;T H 120 B B

T & &1
B
(A+B)\ 10
®+0) 12
(C+A) 5

-~ 2(A+B+C)=10+8+6

24
A+B+C=7=]2?ﬂ"l

A=12BMH—8 B =4 DH

. AR B AR = 120 = 30 R

Ques 100. ANS (A) Solution:
We have, n (S) =52
The event of getting a black king = 2

So,n(E)=2

P(E)=n(E)/n(S)=2/52=1/26
U n (S) =

TP DI Il UTd B bl g = 2

AT @) =2

@ =T @ /T (@) =2/52=1/26
Ques 101. ANS (B) Solution:

gATHEd SR RToRM), H YT B

feeh & ara foran fRya 81

TR & droHgd U g

Hawa Mahal is located in Jaipur (Rajasthan).
The Red Fort is located in Delhi.

The Taj Mahal is located in Agra.

Ques 102. ANS (A) Solution:

Tmef-gfeT YR & AT e fTara 3 daierd

gl

Tieft-3Rfa SHEIT 5 A 1931 B gof 4|

RIdie THe 26 SHART 1919 B UM 31T T

SGINT TCIA 1 3R 1920 &1 Y= B3|

The Gandhi-Irwin Pact is related to the Civil Disobedience
Movement of India.

The Gandhi-Irwin Pact was signed on 5 March 1931.
Rowlatt Act was passed on 26 January 1919.

The non-cooperation movement started on 1 August 1920.
Ques 103. ANS (A) Solution:

Y oo IR 1 & el 3 Uik 3|

TG TS St - HIUY b IR AT P S{ezerdl I
ot

Tt 98¢ B B Ugclt Afga sfedel 1917 H &t i

Tipu Sultan was inspired by the ideals of the French
Revolution.

Badruddin Tyab ji presided over the third session of the
Congress.

Annie Besant became the first woman president of
Congressin 1917.

Ques 104. ANS (C) Solution:

g feweh! ST T T -Gl &7 & Sf<id STl § | SHbT
fHfor 1907 H STHRIGER # SHRIG 4} <TeT & gRT g Ul
TR W T U Wi~ &3 & Swqifd AT g ot
SR (ufem s § Ry & | 39a1 Fmfor 1956 Hfaea &
eI g3 AT




fHrerTs STaTd A 1955 # Afagd ¥9 & GediT J Saie
& TS ATH R R foa1 7T | SRl Whel T
IS I B SHH BT ggdivT d 1953 H fafor fasar mam

This TISCO Steel Plant comes under a private sector. It was
built in 1907 in Jamshedpur by Jamshed Shree Tata.
Durgapur Steel Plant comes under a Public Sector
Undertaking located in Durgapur (West Bengal). It was
built in 1956 with the help of Britain. Bhilai Steel Plant was
established in 1955 at a place called Bhilai in Chhattisgarh
with the help of Soviet Union. Rourkela Steel Plant was
constructed in 1953 with the help of land in the state of
Orissa.

Ques 105. ANS (A) Solution: ]

FIRY 3R F57Ta & HRR St 81 <7 TR1 fd & IR
TR R B
TASHR BIeil ST 3R 2T T Weht St & o Tt ok gow
A& ST A B
TSHR BIell U g0 b et ¢ |
It is celebrated in Vanaras and Nandgaon.

Nandgaon is located in Mathura district of Uttar Pradesh.
Lathmar Holi is played with sticks and shields in which
both men and women enjoy.

Lathmar Holi lasts for a week.

Ques 106. ANS (B) Solution:

PMGY &1 Juf =0 GeTH0 Imiied T 81
Y IS B ST G 2000 T D1 TRAT &R
TP I - s S i Ao
FHfohrd ATd faeT Ao, f=IRt =ifad Ao A1 Hrichd
EQIEIRGE
The full form of PMGY is Pradhan Mantri Gramodaya
Yojana.

This scheme was started in the year 2000.,

Under this, programs named - Mid Day Meal Scheme,
Integrated Material Development Scheme, Kishori Shakti
Yojana are being run.

Ques 107. ANS (A) Solution:

AT & J18 IR deatH HTs Ued HRd & Ugd 3U
Y gUl

TSI X0 YR & YYH ferd 3U YLET U
AR TS HRA & 41 YT 9|
et =R i YRA & Uiad g |

Sardar Vallabhbhai Patel became the first Deputy Prime
Minister of India after independence.

Jagjivan Ram was the first Dalit Deputy Prime Minister of

India.

Morarji Desai was the fourth Prime Minister of India.

Chaudhary Charan Singh was the fifth Prime Minister of

India.

Ques 108. ANS (C) Solution:

PR T e B Pels WR AU I&d FAIT STl ¢ | i

I H 10 &1 I ARSI g |

eS8 TS 18 TRaX! &l HAT ST § S g I &

TR IR URA A AN G

?T@"ra?raiﬁﬁntﬁﬁﬁ UoTe W B d & e R T ST
|

TSt ARG B AT ST aTel 394 & |

Onam festival is celebrated in Kerala on the harvesting of

the crop.

Which is celebrated in Kerala for 10 days. Lohri is
celebrated every year on 18th February which is
celebrated by the people of Sikh community all over North
India.

Baisakhi is celebrated in the month of April on the harvest
of the crop in Punjab.

Pongal is a festival celebrated in Tamil Nadu.

Ques 109. ANS (D) Solution:

YT S BT T HRd BT ST AU ST g |

YR ST YA S HRGH ST YT S BT YA |
¥R 2018 H fopar |

The payments bank is operated by the Postal Department
of India

India Post Payments Bank Launched India Post Payments
Bank. Done in September 2018.

Ques 110. ANS (A) Solution:

BIH HTHT &) YR URHTY] HRIHH & S b =0 J ST
SIS |

Homi Bhabha is known as the father of Indian nuclear
programme.

Ques 111. ANS (B) Solution:

qrex Hel-

38R AT} Ugl- HIABI]

Bld éT i Hﬁg ex Harex %ﬂ?ﬁ ﬂm (Water Taxi Service)
TRE &l ST

Water Metro-Kochi

Underwater Metro-Kolkata

Water Taxi Service will be started recently in Mumbai city.
Ques 112. ANS (B) Solution:

fa%y 1 Ugell TIRTY IRPR - GIs

T I3 R B a7 SIETAd - TOIRId 8T8 DIc

World's first paperless government -

Court to set up Dubai Justice Clock - Gujarat High Court
Ques 113. ANS (C) Solution:

g Yo o 3R HIUR & fafie forell & e &1
THAT B | TAUFTGRT UGBTI BB - T T

This index will assess the governance in different districts
of Jammu and Kashmir. Public Bhagidari Empowerment
Program - Jammu and Kashmir

Ques 114. ANS (A) Solution:

feifes et o1 R 1 SfUp R guid el A 3ol aféroft
#d (South Pole) BT U TR B aTell Ugell TR Ad Afger
TR sfagr v faar

British-origin Sikh Army officer Harpreet Chandi has
created history by becoming the first "non-white woman"
to travel alone to the South Pole.

Ques 115. ANS (A) Solution:

AT O3 G - il B Ugall Aigal Sreqef

T HSd - SAIL $1 Ugel Higell 9uRuH

0ifel &t YferyfS Ui - NU 1 uge! Afger pedfd
Madhavi Puri Buch - SEBI's first woman president

Soma Mandal - SAIL's first woman chairperson

Shanti Shree Dhulipudi Pandit - JNU's first woman vice-
chancellor

Ques 116. ANS (C) Solution:

Location of islands given in the options is as follows:




Elephanta Island : It is located at a distance of 10
kilometers from Gateway of India (Mumbai).

Nicobar Island : It is located in southeast of Bay of Bengal
between 6 -10north latitude and 920-940 East Longitude.
It consists of 22 islands.

Rameswaram Island: Rameswaram is located in the
Ramanatha Puram district of Tamil Nadu. It is separated
from mainland India by the Pamban channel.

Salsette Island : It is an island in the Maharashtra state of
India. The metropolis of Mumbai and the cities of Thane
are located here making it the most densely populated
islands of India.

So, it is clear that the Rameswaram island lies between
India and Sri Lanka.

faepedl # fau e giul &1 Rl s TR ©:

Tael gi0: I8 ed 31t 3fear (Has) ¥ 10 fhaHier &
R RYTRI

FPIER g1U: T8 7T &1 WISt & G-gd H 6-10 IR
3fEITRT 3R 920-940 YT SRR & offd UG 81 398 22 €T

gl

TR G0 IHRY ARG & TS RY forel B R B
Y UaH oA gRT A YA YRd 9 3@ [Gar T g|

HIRIT §1Y: I§ YR P HERIY I8 H1 U 61U 5 | Hes
HETTR 7R 3101 eR gt fRUd § Ol S HRd &1 Jad T

S ICIECISIEARCE IR

0, 75 WY © b TR Ei0 URA 3R et & ff9 R@ 3
Ques 117. ANS (B) Solution:

Shyok river is known as 'Yarkandi' in Central Asia and
'River of Death' in the Karakoram. Ancient evidences
indicate that it was also a medium of trade between
Yarkand and Ladakh. Zanskar river flows through hard
rock and form the deep gorge. It originates on the border
of Himachal Pradesh and Ladakh. It flows in a north and
then flows in east and joints Indus at Nimu.

Spiti river originates at height of 16,000 ft from Kunzun
pass. It merges into Sutlej river near Namgia in Kinnaur
district of Himachal Pradesh after flowing 60 miles.

Sutlyj river rises in Tibet it crosses Great Himalaya and
Zaskar range and crosses Indo-Tibet border near Shipki La.
Spiti river merges in Satluj from the north.

Thus the correct order of the above rivers from north to
south is -

Shyok - Zanskar - Spiti - Sutlej

I AG] DI T URMATH ARG 3R SRIGRA H T Bt
e & ATH Y ST ST 8 | YT e 9 b i ¢ fob
I8 IREG 3R TERT & S TR BT T Hregd i T
G el HAR TS U BIHR Il § SR T ISt FAh
21 g feHTad IR iR dgra & 9 R Hadd ¢ | 78
IR A 8 B 3R R gd o gt B stk g & Riy Y
et gl

T T o a2 W 16,000 Wi B Fams W Abad |
g ferrad Uex & foreR forel & Amfan & U 60 Hid sg
F 91 gaqel el A fra ot 31

A Tal fdssd H el 8 I8 Ao fewTerd 3R SIReR
9 BT UR BN 7 IR R &1 & U URa-fssd Sar ol
IR Rt 8 | Thfa 7t SR T Taget # faefi= gl ot ]

Y YBR IRIa g &1 IR I R0 P! IR IS pH e -

Ques 118. ANS (B) Solution:

e AT SUUPR § :

AU THT & Ugdl SUTHE - T4, J@oi

UR=Y AT & Gaid: ThHT S 96w - &, Ty, 4=t
RISIRYT &1 Rl b1 Ui B arel Hfae auT
qew - i,

Y gy Al & Sfemef - SargRar Ao

2020 A e : ST GHT & Ul SRR IuTeas thep G
¥, o 9 fadeR, 1946 1 SRR 31ees Aiwrgre R grT
e fopam T o7 | U 3t Rt Sfae JuT & Uga I
IuTedd U1

The correct matching is as follows:

First Deputy Speaker of the Constituent Assembly - H.C.
Mukherjee

Originally the only Congress member of the Drafting
Committee - K. M. Munshi

Member of the Constituent Assembly representing the
princely states of Rajasthan - V.T. krishnamachari
President of the Union Constitutional Committee -
Jawaharlal Nehru

2020 A Note : The first provisional Deputy Speaker of the
Constituent Assembly was Frank Anthony, who was
nominated by the Provisional Speaker Satchidananda
Sinha on December 9, 1946. H.C. Mukherjee was the first
permanent Deputy Speaker of the Constituent Assembly.
Ques 119. ANS (D) Solution:

e IT 3MRerT &1 Tfe gy guf fafad dfaum g |
g fay &1 qad Biel foRad dfaem &, o v 7 sifede
A 81 98 R o1 i 3y o1 9e v fafea
Tfaer g, foraw 395 e Aa ||

The Constitution of the United States of America is the first
fully written constitution. It is the smallest written
constitution in the world, consisting of only 7 articles. At
the same time, the Constitution of India is the largest
written constitution in the world, which consists of 395
articles.

Ques 120. ANS (B) Solution:

119 T SRANT P SR IR BRE ¢h AT 1 RITIAT 1
30T 2001 B BT TS | SRS HTHA $I @Rd 9 J
AUe & ford 37ohT RITUT 1 7 |

The Fast Track Court was established on 1 April 2001 on
the recommendation of the 11th Finance Commission.
They were established for speedy disposal of criminal
cases.

Ques 121. ANS (A) Solution:

1741 AIBEHT & [T AU B CIhHTTE ApaHT A
HISTTT G Slaey 3% $HR DI UIcH Wb §H—1 T |
17 5, 2019 &1 g8 AFUTT ITA1Y DIfdg A 35 Fi¥IG &b
EY H AHHT Haw UG B 0Y eS| 389 a8 3 UieH
WitepR fAgerd foar T | 4w $HR 91 §R 9ihE 99 4o
81 98 IR IR CIHHIG AhHT 3R - IR IR Ui B
Uit B g% € | aaHH H 98 e dle I uike g
U § 1 I B T 30T SMITRRaR ) T 348
G diet Y g Ul




For the 17th Lok Sabha, Dr. Virendra Kumar from
Tikamgarh Lok Sabha seat of Madhya Pradesh was made
Pro-tem Speaker.

On the morning of June 17,2019, President Ram Nath
Kovind administered the oath of office to him as a member
of the Lok Sabha. Thereafter he was appointed as the Pro-
tem Speaker. Virendra Kumar has become an MP for seven
times. He has represented Tikamgarh Lok Sabha four times
and Sagar seat three times. Presently he is elected MP from
Tikamgarh seat. He defeated Congress candidate Kiran
Ahirwar by nearly 348 lakh votes.

Ques 122. ANS (C) Solution:

T A 116-435 5. 1 @ AU, P AT Ford & o - I U
T3NS 3 SHHeIE ¥ T A AR P 7RG HIei
T ot ifad Sarn T g |

The article of Gupta era 116-435 AD, MP. Received from
Tuman - of Guna district. In this inscription, the Gupta
ruler Kumaragupta has been described as the 'Autumn
Sun'.

Ques 123. ANS (D) Solution:

TY 2011 BT SFUFIR FHYCRT & GATH HIE&RAT &Y
Il frell &1 el o1 U UPR § AR (361%), TGS
(43.3%), TSAMT (49 19%), TR (57.4%) TUT YR
(59.0%) .

According to the 2011 census, the correct order of districts
with the lowest literacy rate is Alirajpur (361%), Jhabua
(43.3%), Barwani (49 19%), Sheopur (57.4%) and Dhar
(59.0%).

Ques 124. ANS (B) Solution:

Indias first Deaf orphanage will start in the Indore district
of Madhya Pradesh.

YRd &1 Ugal SR SHTITAT A USRI & SGR 1 H &
B

Ques 125. ANS (D) Solution:

Country First Handicapped Sports Complex will start in the
Gwalior district of Madhya Pradesh.

THYCRT & TaTferdR forel T R BIT &= &1 Ugell fdabaiT
U IR |

Ques 126. ANS (A) Solution:

TER AT 2| BTS % PR AR 1 YR 8, B S
DI IR B & o TRNT fHar ST g |

happens outside. Hard disk is a type of computer memory,
which is used to store data.

Ques 127. ANS (C) Solution:

ooR fIUeR # IR SR fUfueT dep-ien! o1 SuanT fobdm el
%I Eﬂﬁ IR R R (cyan), Aster (magenta), e
(yellow) 3R T (black) HER LSERICAR AR
fopan oTTaT & | 39 OIvex & §RT 3= TUTaT (High quality) &
31&R 3R fort fiioe fpu Sma &1

Four color printing techniques are used in laser printers. It
is commonly used in cyan, magenta, yellow and black color
printing techniques. High quality characters and pictures
are printed by this printer.

Ques 128. ANS (B) Solution:

Windows 8 H fUSIS Hif$ar @R Wi & farg wmplayer
HHIUS BT TN a1 o1l & | favsTal Hifsan @R &

T PR R TS, ST @ B 3R ZHST Dl o
& forg IugnT far ST 5 |

The wmplayer command is used to open Windows Media
Player in Windows 8. Windows Media Player is used to
play audio, video and view images on personal computers.
Ques 129. ANS (C) Solution:

NTP &1 0l U Aeads eTgH WeldId (Network Time
Protocol) & | T8 U UHT MCIHhId §, St HIELR HI Uh
Jegs § ISl & 9T B! Rigp1gs B3 A Heg HRdl g
The full form of NTP is Network Time Protocol. It is a
protocol that helps computers to synchronize clock times
across a network.

Ques 130. ANS (C) Solution:

AT TRTWIRR QYT THTE b1 H Todd Bhi- - & folw
MEHT DI F11 HTYAN b1 Sl g |

In Internet Explorer and Google Chrome, the shortcut 'key’
F11 is used to perform the full screen.

Function Key

F1:F1 8¢ & [0 T8 key SUTNT & o1% Sl §

F2 : F2 S99 & & folT T8 key SUTNT H @18 el 8

F3 : F3 d HATS 307 I & o ST fhar s g
F4 : Alt+F4 ¥ fS) ot &t STt 8

F5 : RIPRT A & U F5 &1 IUART 3l &

F12 : ®Ts I BISA B Save as PR b [T F12 BT ITART
IRA T

Function Key

F1: This key is used for F1 help.

F2: This key is used to rename F2

F3: Used to open F3 search command

F4 : Alt+F4 closes the window

F5: Use F5 to refresh

F12: Use F12 to save any file

Ques 131. ANS (D) Solution:

ATsH U W1 fEarsT & Sl ST &) ued H uRafdd exarg
TUT IR SBT3 W THIHe PR g |

A modem is a device that converts data into pulses and
transmits them over a telephone line.

Ques 132. ANS (C) Solution:

Oracle is an RDBMS (Relational Database Management
System). It is known as Oracle Database, Oracle DB, or
Oracle Only. The first database for enterprise grid
computing is the Oracle database.

Oracle U RDBMS (RO SeTad Haviic Riem) g1 39
Oracle é?laﬂ, Oracle DB, 4T Oracle W%Wﬁmw
glm%m%mmmOradem
|
Ques 133. ANS (C) Solution:
T (Ring) SUTETSl § U TS &1 3w erdl, IR Hedd Bl
S-S PR Tl ¢ | STH obe hIcTSo Pt JRHTTT B
HH B & e e g1 fomn & g+t ster &1 varg fovar srar
glmﬁwﬁwa@waﬁa@wﬂﬁﬁmm
|

In a bus topology, all devices (or nodes) are connected
together through a common link called the bus. Each node
on the bus receives all the network traffic.

bus network topology

A typical bus topology.

One of the benefits of bus networks is the ease of
connecting devices onto the network, which generally
requires less cabling than a star topology, for instance.




Also, failure of a node does not impact the rest of the
network. On the downside, a network cable failure shuts
down the entire

network. Also, adding nodes can slow down the network.
Ques 134. ANS (D) Solution:

HWTW (Application layer) OSI A18d $1 7d1 URd gIal

{ Application
Upper Presentation
I.:_’-. (W § l :
Session
Transport
Lower Network
o :
layers Data link
Physical

O8I Madeol
Application layer is the 7th layer of the OSI model.
The Open Systems Interconnection (OSI) model describes
seven layers that computer systems use to communicate over a
network. It was the first standard model for network
communications, adopted by all major computer and
telecommunication companies in the early 1980s.
3N REH SeHaRA (NTHTS) ATST I1d U] &bl
U FHRT ¢ S HR e Aedd W JIR & & oy
YA R g | T8 Head TR & forg ugar qHe Alsd o,
o1 1980 F = Bt YI3TT T TH T e 3R
GIUTR Ul gRT SUTIT 7T T |

Ques 135. ANS (C) Solution:

FeTH T AR TP I FTSOR 8, S Ug el adTad 0 I
REGNECEIREIRIT

J9 STIOR d%s A3 S 99 TR YI13f b Uga- & e udh
e TR Tl g | forddt o damge & SuanTehal gRT
SR SR Y U: UT 1 Id STSR bl bTd B

Netscape Navigator is a web browser that was the first
commercially successful web browser.

A web browser is a software application for accessing
information on the World Wide Web. It is the function of a
web browser to retrieve the information requested by the
user from any website.

Ques 136. ANS (C) Solution:

&3 M fapenl §f ¥ hagpaer, HIELR, HIETSd Wi T0HT
BT HR qHhd g i e Th 33cye fSarsa gl

From the given options, calculator, computer, mobile
phone can perform calculation functions while printer is
an output device.

Ques 137. ANS (A) Solutlon

UIaR WIsC | el dee faulTs &1 TR axdh gH HH T
H IR U<l D1 S el § | 3Tl o< farsTrs- A,
Jexy, Qett, FEOE quT 3m3eye & R H SHHR! dd §U
T TR S ¢

By using auto content wizard in power point we can create
simple presentation in less time. Auto Content Wizard -

Creates new presentation by providing information about
content, purpose, style, design and output.

Ques 138. ANS (D) Solution:

Debian, Fedora, Ubuntu I g} 3= Wﬁl@ﬁ L°Cd Wl'ff
FA & AR AT Linux TR STURA B

Debian, Fedora, Ubuntu all work on open source principle

and all three are based on Linux.

Ques 139. ANS (C) Solution:

B IS QA TPR B BId §

1. HIRTd &1 S1S-T8 1 dls FH=aa: TN a1 S Tt

EARCISEGI]

%.ﬁiﬂaﬁaﬁé-“{aﬁﬁﬁ I & S1eT- 316 U | Bt
I

There are two types of keyboards

1. Serial Key Board - This keyboard is a commonly used
keyboard.

2. Parallel Key Board - There are many parts in it in
different groups.

Ques 140. ANS (D) Solution:

You can combine data from multiple cells into a single cell
using the Ampersand symbol (&) or the CONCAT function.
3T THRYE Ui (&) TT CONCAT WHaR BT YN Hdb
TSI el J ST P Uhd I H T B Thd g
Ques 141. ANS (C) Solution:

paste - (ctrl + v) - Used to put text, graphics, etc.

cut - (ctrl + x) - Used to cut text, graphics, etc.

copy -(ctrl + c) - Used to copy text, graphics, etc.

bold -(ctrl + b) - used to darken the font

italic -(ctrl +I) - used to obliterate the font

underline - (ctrl + U) - used to line the bottom of the font
increase font size - (Ctrl +Shift +>) - used to increase font
size

decrease font size - (Ctrl 4+-Shift +<) - is used to decrease
font size

Align text Left (Ctrl + L) - Used to write text from the left
side

center (Ctrl +E) - Used to center text

T (GoTo)-I8 HHIVS CRE & bl =T AT 3rufe fameit
EW@\_SI (31"?911?!"6) ff Text, Line, Bookmark, Page Section,
Footnote, Endnote, Graphics, Equation, Objection 3G TR
STIRTE S g T 81t & | T ¢ HHIUS &b YART Y HIR
TifSd R TR =l STl &, $HD! ACHE Cerl +G Bl o
Ques 142. ANS (B) Solution:

Drop Cap The drop cap enlarges the size of the first letter
of a sentence or paragraph so that it is longer than two or
more lines. The command path of drop cap is Insert >
Drop Cap. Drop cap puts a special effect in the first letter of
the paragraph, that is, the word on which the drop cap is
applied, it is especially visible. For example, the first letter
of the newspaper is in the drop cap.

ST &Y (Drop Cap) 14 0 fhaft aTed a1 IRTUTH & UuH
&R B THR DI 31 IS8T B <l § o1 dl &l a1 39y
3! A3 1 81 81 SW| S0 &Y B HHIVS BT UTY Insert
>Drop Cap Ak @%W%UW 3R T Special
Effect STeTd & 31ufd T Weq R ST HU 3wlrs grar g af
%ﬂﬁﬁ@ﬂ%léﬁ-%ﬁﬁmu@a{mﬁq%ﬁ




e @"q%q By default 3 WW@W%QH 3ffIHdH 10
A1 oI 9818 b g |

Ques 143. ANS (B) Solution:

The full name of WWW is the World Wide Web, whose
father is Tim Berners-Lee. Java language is used for web
page design, animation and playing games .

WWW &1 U 19 World Wide Web g, S fer
FIE A 8| ST IR I9 U ferg, TFHaRH Ud 9 WeH &g
STaT HTST Tgad Bl & |

Ques 144. ANS (A) Solution:

To Select the entire worksheet, Ctrl4+A or
Ctrl+Shift+Spacebar is used.

FI'CI(:UT worksheet &1 TIT B & ﬁm Ctrl+A gl

Ctrl+Shift+Spacebar EI?TS'WT@WTG’IT‘IT % [

Ques 145. ANS (C) Solution:

SEO means Search Engine Optimization and is the process
used to optimize a website's technical configuration,
content relevance and link popularity so its pages can
become easily findable, more relevant and popular
towards user search queries, and as a consequence, search
engines rank them better.

SEO &1 HAd Td 91 SPHTEOIRM § 3R I8 Ud dadrse
DI A1 BB, T TrifIeHar 3R foie
MBI B 3G B P [T ITANT BT &1 areit
Tfehar B, dTfeh Sch OST ST | B! T b, SUARTh
TIoT H & forw 31fies Ui SR AT 81 b, 3iR
3% IR, I 39T 38 9gdR ¥ Sd 7|

Ques 146. ANS (A) Solution:

Alt + Shift + D shortcut key is used for current date

Alt + Shift+D RIT¢HT ot b TN TAA feid b g
fparsTar g

Ctrl + A : Select All

Ctrl + B : Bold

Ctrl + C: Copy

Ctrl + D: Font

Ctrl + E: Center

Ctrl + F: Find

Ctrl + G: Go to

Ctrl + I : italic

Ctrl + J: Justified

Ctrl + K: hyperlink

Ctrl + L: Left alignment

Ctrl + M: Move

T 09 it U9 o0 AIuc TR H IUFNT &1 S drelt
shortcut keys

Ques 147. ANS (A) Solution:

AN W T gedfed!, 3fdd TS, TRIA 3R frrar
A 8, ARG BT Uga H Hie 8|

Censorif fonts include Helvetica, Avant Guard, Arial and
Zyncha, Censorif fonts are hard to read.

Ques 148. ANS (B) Solution:

Packet switching is used in the Internet and most local
area networks. The Internet is implemented by the
Internet Protocol Suite using a variety of link layer
technologies. For example, Ethernet and Frame Relay are
common. Newer mobile phone technologies (e.g., GSM,
LTE) also use packet switching.

Uobe RIfiT T W $exe SIR ST R &3
Seqd T far SIdT 8 | SevAe Metdhid Je gRT fafte ueR
&1 o TR WISl o1 SUART b prfad fovdT ST
81 ISTERYT & forg, ST ok 1hA Rt o &1 78 Hiamsa
B Wil (G, Sewed, Tadls) it doe fafkin &
STIRT AR 5 |
Ques 149. ANS (D) Solution:
Function Key
F1:F1 8¢ & filU I8 key SUUNT H T3 STl &
F2 : F2 A 631 & o0 I8 key SUUNT H @18 S §
F3 : F3 d HHTS S0 I & oY ST fopam Sirn &
F4 : Alt+F4 ¥ fIS) ot &1 STt 8
F5 : RIPRT A & foTT F5 7 IUA1T I3l &
F12 : ®Ts i BISA B Save as PR b [ATT F12 BT ITART
FXA T
Function Key
F1: This key is used for F1 help
F2 : This key is used to rename F2
F3: Used to open F3 search command
F4 : Alt+F4 closes the window
F5 : use F5 to refresh
F12:Use F12 to save any file
Ques 150. ANS (D) Solution:

(Wimax) WW@W% a's'rnsﬁﬁa
Ugd & oIt 968 a158 Sex STRfaec! arell AdHad aRRed
TH-1h ¢ | T8 ATS-T8 B! Jol & U 1SS RTd &l
TR 31fee g A F (75 MB/S) R IHaT 5|
Wimax is related to communication technology. It is the
latest wireless technology for microwave access with
world wide interoperability. It can transmit a broadband
signal at a faster rate (75 MB/s) than Wi-Fi.
Ques 151. ANS (B) Solution:

Here,therelationshipis x : (" x)r6: (6+3) = 6: (216+6) = 6: 22

Siudart,7:(F+7)2 7:(3454+7) 2 7: 380
Ques 152. ANS (C) Solution:

gﬁﬁwﬁﬁ%wﬁqw%q&m@%@qu

Country names are given in all options. Asia is the name of
a continent.

Ques 153. ANS (C) Solution:

The correct option is D

248

The pattern is *2+0,*2+1,*2+2,*2+3,*2+4,*2+5
Next number = 121*2 + 6 = 248.

gl fawed St

248

UTH § *240,%241,%242,%2 43,244,245

SATCl EAT = 121%2 + 6 = 248

sahee vikalp hai dee

Ques 154. ANS (B) Solution:




-3 -3 -3
lstletter : W— T—» Q —

+1 +1 +1

2nd letter F—»G—>» H—>

+3 4
3rd letter : Bib D— G+—)

Ques 155. ANS (A) Solution:
KIRAN - LJSBO

SUH $Had U AeX BT SIHIHC IRATE

U PR EH

SRIKANT ¥eg & oy af} thex 7 U Aer &1 S<p it Hvd &
ar

SRIKANT - TSJLBOU

W $Had U Ae BT S<pIAC [HAT T gl

KIRAN - LJSBO

In this only one letter has to be incremented.

similarly we

In the word SRIKANT also we increment one letter in all
the letters.

SRIKANT - TSJLBOU

In this only one letter has been incremented.

Ques 156. ANS (C) Solution:

E GKPTALUR
R R TR 2 R
1 5 7 8 9 2 4 3 6

2 4 5 3 9

I 44 1
A L G U T
Ques 157. ANS (B) Solution:

E = 5 3751 JUiATAl § &

P E N

dar | l ]
164+ 54+ 14 =35

P A G E
| Lo l
16 + 1 + 7 + 5 =29

Ques 158. ANS (B) Solution:
[EALOU SY I LA YS E] U0 foRar STd1 8 1 381 oRe,
FUSHWIRE & ESERUFIW & %0 & ferar airar g | faeea B

eI I B

JE AL OU SY is written as LAYS E] UQ Similarly,
FUSHWIRE is written as ESERUFIW. Option B is the correct

answer.
Ques 159. ANS (A) Solution:

STt Weq I & IR sl &1 Aal HH R HHTT-
Y& H-Aadl-U-g1ug iy |
According to the English dictionary the correct order of
words would be: Creation-Management-Humanity-Form-
Manuscript.
Ques 160. ANS (B) Solution: H@W% Cable, Cachet,
Canary, Cancel, Candid 3{d: Teg! D1 gl SRIGI H 4, 3, 5,
2,13
Ques 161. ANS (C) Solution:
U UBR & Ul H GH Uh-Th B [dhed STeThR Sird bl
3{d: faeh ey w1 ura |
3+6—2+8x4=18
3(d: fdehed ¢ & AR g aa IR g8 W g
Ques 162. ANS (C) Solution:
Number of triangles in which 1 smaller triangle is = 12
Number of triangles having 2 smaller triangles = 8
Number of triangles having 3 smaller triangles = 4
Number of triangles having 6 smaller triangles = 4
Thus, total number of triangles =12 + 8 + 4 + 4 = 28
Ryl o1 e fod 1 Bler Ay 8l = 12
Byl ot S o 2 B2 Byw @l = 8
Byl @ T S 3 B Ays gl = 4
Pl a9 e v 6 B1R e €l = 4
3d: A RYA DI BN =12+ 8 + 4 + 4 = 28

B _C

Ques 163. ANS (A) Solution:
5 years ago age of Aarav's mother = 3(a - 5) years.
Aarav's age after 5 years = 'a + 5' years.
Age of Aarav's mother after 5 years = 2(a + 5) years.
So, the present age of Aarav is 15 years.
5 a4 Ugd 3R P Al &1 3T = 3(a - 5) Y|
5 T TG 3R B 3T = 'a + 5' T |
5 a4 §1G 3RA DI AT DI 3T = 2(a + 5) TYI
3fcl: 3RA BT ATHM 3G 15 N ¢ |




Aarav Mother

5 yeat 1 : 3

ago 1=10
Now

Afte 2 . 4

5 year—1 : 2

31T RGP GAH 3T = 10+5= 15 |

Ques 164. ANS (D) Solution:
Suppose the bus was facing north when it left Priyas house.

T o fos S 59 far & @R Mavdl! df STHT g 3R
DI 3R AT

Thus, we see that the bus will be facing west when
reaching the school. )

Y UBR, §H 3T § [ ol UgT R 99 1 g@ A i
3R ghT

By moving clockwise in an angle of 45, the bus faces north-
west when reaching the school.

45 % P01 ¥ SIEOMTd M W, W d Ugdd 999 54 &1 §8
ITR-UREH BT 3R Sl

Thus, the bus was facing north-east when it left Priyas
house.

U YSR, ofd 59 O & IR I el df S9H1 g9 STR-Jd
DI 3R T

Hence North-east is the correct answer.

oY ITR-Yd I IR 2

Ques 165. ANS (A) Solution:

R & oy &1 uger 3R sifaw fem gi=n TaH grar ]
dr 31 fadeR 2018 o1 fe off FHAR 1|

In a non-leap year, the first and last day of the year are
always the same. So the day of 31st December 2018 was
also Monday.

Ques 166. ANS (A) Solution:

QAR, RAS, SAT, TAU,

Firstletter +1 increament= T+1= U

Second letter A constant

Third letter +1 increament= U+1= V

QAR, RAS, SAT, TAU, UAV

QAR, RAS, SAT, TAU,

Ul &R +1 I =>T+1=U

TR 3{ER U RRI%H

ARRTSER +1 G =2 U+1V

QAR, RAS, SAT, TAU, UAV

Ques 167. ANS (C) Solution:

THTY: e > Ga%T > I > WEe > Mad > ded >
T > 5w

Solution: Aditya > Devesh > Byom > Fahad > Gautam >
Chandan > Emi > Harish

Ques 168. ANS (A) Solution:

) E1aid
X B sfp@ Y
3
5 fasft 5 fadt gfgam ™
Z
= =fayo

7 et

I g X & BaT gt

= XY -BY = XY - AZ
=8-7=1Ff%Hh

Ques 169. ANS (D) Solution:

Both the larger and the smaller squares move to the
adjacent corner ACW in each turn. Also, the shading in the
smaller square moves 1, 2, 3, 4, 5, ... steps ACW
sequentially and the shading in the larger square moves 1,
2,3,4,5,... steps CW sequentially.

T AR BI A1 o Ui T B S B Acw H T o
g1 E, B A Ho/ieT 1,2, 3,4, 5, .. ACW Pt &Y
@W%Sﬁ?a%aﬁﬁw 1,2,3,4,5,.. CW Hil®
SUEERCIE

Ques 170. ANS (B) Solution:

As Badminton is played in a court. Similarly; Skating is
done on Rink. Hence, "Skatin%: Rink" is the correct answer.

Y dSfHied HIE H Qa1 Ira 8 | 3 avE; Whid Ree Wt
STl g 1 39T, "ThfeT : Rep I8l SR 8|
Ques 171. ANS (D) Solution:

9 g A T Y ¥ SR g TR PR & 916, fig B R R

33 fa=m o ugdh
AMRBF AP GH = 25-15 = 10 fHet|
sqferg, fig B, BY 10 fri gd A g




30km

10km
A——aIB .
25km

The bus started from point A and after traveling a lot,
reached point B and in the same direction. Distance
between A and B = 25-15 = 10 km. Hence, point B is 10 km
east of B.

Ques 172. ANS (A) Solution:

@Fﬁﬁﬁﬂw 90

Ugd fod asa! 3R asfeal o1 Srurd =2:1,

I ASH! 3R TSH BT TS = 60 3R 30 HA:
TS AR TSB! B W T R &1 3UTd =3:2
dl, dgdl &l HB=

3
— X90 =54
5

3T G ol H TSdh] b g BT R =60-54 =6

Total number of students = 90 Ratio of boys and girls on
the first day =2:1,

then number of boys and girls = 60 and 30 respectively.
Ratio of boys and girls on the sent day =3:2 So, number of

3
— X 90 = 54
5

boys =

So the difference between the boys on both the days = 60 -
54=6

Ques 173. ANS (B) Solution:

TRl & 2 1 TN foraT STTaT § $iR oo &1 1 1qom fsan
SIS

POUND
x1|x2 x2\x1\x1

16+30+42+14+4 --» 106

CLEAN

\11\:&1\32 x2{x14

3+12+10+2+14 - 41
MAKER

x1I%x2Ix1|%x2]|x1

THIUBR, 13+42+11410+18 — 54
Vowels are multiplied by 2 and consonants are multiplied
by 1.
Ques 174. ANS (A) Solution:
HARYH

The required pattern is:
-3 -3 -3 -3

3 -3 3 -3
58 L C LD FEQ
L]

+1 +1
Ques 175. ANS (A) Solution:

NI IR F Ugd iR MBI A H 1 e 1 3R Sarg 1 at
31 fadsR 2016 F1 g TR U

There is a difference of 1 day between the first and last day
in a leap year. So the day of 31st December 2016 was
Saturday.
Ques 176 ANS (D) Solution:

Hiifep 3= Gla arel 3 i AR faies W 3%
fashar 9 fora & | T8 o AT WR SR fashar &1 g1 g

Seller because the buyer of the shares has taken them over
from the seller on the ex-dividend date. In such a situation,
the seller will have the right on the dividend.

Ques 177. ANS (B) Solution:
wﬁmwnﬁﬁmﬁ@f et I &l HHaR!
& HAER & Uad U4 HHGIR Tgqai &1 aui- H & g

EHISIGI

Among the personal evaluation activities, essay evaluation
is asked to describe the strong and weak aspects of the
employee's behavior.

Ques 178. ANS (A) Solution:




A U ICTERUI GRT T TgH HT AT §H gHMER I
FS A A E AN & SR T A1 a1 819 9 |
The meaning is clear by an example Bathing soap we ask
from the shopkeeper only by the brand name like Lux soap
or Dove soap.
Ques 179. ANS (A) Solution:

3TacH Ted &1 g R o ferg fafafiat
P T Sfce Ye b1 FHIINST HRT g |

The program accommodates a complex set of activities to
meet important non-recurring goals.

Ques 180. ANS (A) Solution:

TGN ! GABR d THBR 39 W I TR gRI Sl (017 fordy
ST & 99 51 U RIS g |

The decisions taken by the higher level after listening to
the problem and knowing it is called decision making.
Ques 181. ANS (C) Solution:

g 98 JUf &, Sl IR # 3/ER4 il & wid-Uc e, BT
31 |

It is an asset that is invisible in business, such as patents,
goodwill, etc.

Ques 182. ANS (C) Solution:

12 HIE &1 GHITE & 3{c g1 aTd o o forg ot
W TR fHFA SIA | | 3fa: IR 'c Iuga g

Financial accounts are prepared for transactions occurring
within a time period of 12 months. Hence answer 'C' is
correct.

Ques 183. ANS (A) Solution:

F.3MTE. &, (TSt ) vromett efPeior srey wrar g | fob o
U H 3R Ha JIER &1 SIS g, 9 S7d 98 a4 &l 3
S AR 3fc: SR "of ITIFA S |

J.I. T. (True Time) The system approaches the contract.
That the material should come in the form and when it is
needed, just as it is. Hence answer 'A' is correct.

Ques 184. ANS (C) Solution:

310 Tl fordl el &7 S-S0 Tl 1 ATY-BI Jral
T S § Jg Y A HH JTel TR P §RT §11 Sl |
Ig faepd 39 81 daR o5 ST & fora avg & ary- g1+
GTAT ST & SUH PHad HRTd UIG! BT 51 ol (b1 STl &,
Yol Tel & et feraT ST 8 | fos=ma aaT 314 - o9 aat
2 1 31 I ' IuFI 3

What is Income-Expenditure Account? Income-
Expenditure Account is called Profit-Loss Account, it is
prepared by non-profit making organization. It is prepared
in the same way as the Profit and Loss Account, in which
only revenue transactions are recorded and capital items
are not recorded. Rent account is an income-expenditure
account. Hence answer 'C' is correct.

Ques 185. ANS (B) Solution:

b AeH 3R e e afe I8 S I1hide B1S &
TTeIH J AR BT YA B 8, <l 3T 3 Ahe, A-ie &
U § iid 31 ifes AeA 8 IR S gid YiaH
foa 411 hfEe AeH: U hige d-e H, d bise afii
TG B f&red 1 47T Rl &, Sl fob Teb gd e srafdl
198 A TTET 1S A AT el § TR-ABE A
HEAT 8| 3c: TR T IuYFd 3|

Cash Transaction and Credit Transaction If she pays the
amount through debit or credit card, you will refer it as

cash transaction because she paid immediately when the
transaction happened. Credit Transaction: In a credit
transaction, they pay the bill only after the credit period,
which is a predetermined period. A transaction where no
cash is involved is called a non-cash transaction. Hence
answer 'B' is correct.

Ques 186. ANS (C) Solution:

T A1 Ueh ST fehdn SiR fsare &1 gk
UIISM & GRT U ST & Fa9§ UGRH & A1 gaT ol
UfshaT & U H URYIYA BT STl 81 31 SR "' SUYH 3
I
The benchmarking technique is defined as the process of
comparing one business process and performance with the
industry best performance given by another
establishment. Hence answer 'C' is correct.

Ques 187. ANS (C) Solution:

e B U1 fard & ol 3 SUHIT & SR Ig1 IcdTe a1
AT BT YA HR IDT Gl el B TIhaT g |

The customer is the only person who is the real consumer
and he can use the product or service and evaluate it
correctly.

Ques 188. ANS (C) Solution:

AT FEHTSH J dTid HHART B JUHH b ATy T gUFt
A aTfeh At SHTYTRE 81 ST T 3HfYH Iie ¥ B H
b |

Profit sharing means making the employee a participant in
the profit of the enterprise so that he gets motivated and
can work with more enthusiasm.

Ques 189. ANS (A) Solution:

gfafy (Posting) WWWWWW@%@?
BTN B DI UihaT F 8| T & AP e & forg
IATH U Sfde 3R U thfge grm | ufafd @ arad sgiara
DI gD | (SR H) TG HRAT |

Posting refers to the process of transferring debit and
credit amounts from the journal or subsidiary books to the
respective heads of accounts. There will be at least one
debit and one credit for each transaction in the journal.
Entry means accounting in the book of account (in the
journal).

Ques 190. ANS (A) Solution:

faspa Tl 1 A1Td, URMHS Wb + Tia - sifcd e +
Tge AN gl g1 3fck: IR ' Iuga 7 |

Cost of goods sold is opening stock + purchases - ending
stock + direct cost. Hence answer 'C' is correct.

Ques 191. ANS (B) Solution:

BSR &1 Absda! 3R o YfKIehT & o 3R & o &
o R fHar Srar g1 o S| 9 I ¢

BSR is prepared to reconcile the difference between cash
book and bank book. Hence answer 'B' is correct. BSR is
prepared to reconcile the difference between cash book
and bank book. Hence answer 'B' is correct.

Ques 192. ANS (D) Solution:

16 & fqh™ & forg Ayl FeTe & UeR SR U
ERSINCIE]

Important for the growth of the organization is the type of
performance to be achieved.
Ques 193. ANS (C) Solution:




T: SoNfast (G i) Sraad ugd &l efid
8, ST 32z, Ffara grodtar & Mifers greuie 3R
IR BT P P! UfhaT B U HRATRIAT & | 3 ST
T IUYH ¢ |

Re-engineering (re-engineering) refers to discrete
initiatives aimed at achieving a fundamental redesign and
improved performance of the process within a specified
time frame. Hence answer 'C' is correct.

Ques 194. ANS (B) Solution:

Yot gurTer fafy &, etidh-dhd! &) $© T B IR
I Y T HH 6 H HHATRG] DI Jedid B & [o1g
HEISCI 3 | 37 IR 'S SUGHI 5|

In the grading system method, the appraiser is asked to
rate the employees from highest to lowest on some

aggregate criterion. Hence answer 'B' is correct.

Ques 195. ANS (C) Solution:

ST U & YT, 3 dTfends, 3FhH & X8 oTd ¢ | a9
U Y& UiohaT el S 8 | 31d: IR ' Sugad g

When the functions of management are placed in their
logical sequence. Then it is called management process.
Hence answer 'C' is correct.

Ques 196. ANS (C) Solution:

A% T THR U 9% GRT B eSB! (&1 o I1el I8
YT &1 I1eA § 8 e faredt sRTa safad & 3ra=
JHTST F Y cash 7 IH YA HR GHd1 8 | IF Th
UHR F1 faf g v § 3fch: S| ' UG g |

A check is a means of payment given by the bank to the
account holder, so that the customer can make payment to
the next person without giving cash directly from his
account. Check is a type of bill of exchange, hence answer

'c' is correct.

Ques 197. ANS (D) Solution: ]
Alex Tsferd U fehTs; SUHIad STolR &1 IaTexv § | T8t
Y JUHIST TS THY dab Fe dTel STe) bl Wlear 8 | 31
IW T IugEd g

Motorcycles are an example of a consumer durable market.
From here the consumer buys long lasting products. Hence
answer 'D' is correct.

Ques 198. ANS (A) Solution:

A strategic business unit, popularly known as SBU, is a
fully-functional unit of a business that has its own vision
and direction. Typically, a strategic business unit operates
as a separate unit, but it is also an important part of the
company. It reports to the headquarters about its
operational status.

U Ui AR 3HTS, o b =0 3 FEU
T ST 11 8, Ueh SHa9Td 1 §R1 oRE PricD ?
ST 3o 2fP 3R ferm 8l 81 3MHAR W, Ush J0MHifded
MR SHTS Ueh 3T IDbTS b TU § BIH Bl 8, Afh I8
HUN BT TP Ayl figwa oft 31 og srot ufarer fRufa
& IR T e &l RUlE aar g |

Ques 199. ANS (A) Solution:

3OS AR & g & 3y AR S FRAOR T & a1y
AU R GHTG (60T 5 Tobal 8, Tg! el g | 37ck: ITR 37
Iuga ¢ |

In the context of unconfirmed news, unconfirmed news

can be eliminated on time with continuous effort, not
correct. Hence answer 'A' is correct.

Ques 200. ANS (B) Solution:

T 81 HIFTa W1 U 1 71ed BT § | I 81 /i
AT BT U B Ihdll 5| Tg1 370 ST

ARG ATIIR ST B T JHaT 8 |

People are the target of human resource management.
Only human can manage human resources. Only he can use
them as per his need.




